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0.8%

= x 100%

= x 100%
x 1-
= x 100%
x 1-
10 15
10x 16% _
=15%x 1-0.8% x 100% =10.75%
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16%



= X X x 100%

5-2 200 5000
9% 33%

=(1+9f:/0)—1:9.308%

_ 2000000 x 9.308% x 1 -33% _
= 000 5000 x 100% = 6.25%

- X x 1= x 100%

5-3 500 480 12.6%
0.8% 33%

500x12.6% x _1-33%
= e o X 100% =8.66%

L 2/10 /30" 10 29
29 30
100% 29
- S ——— X 100%
5-4 2/10 n/60 3%

— 187 —

10



360

2% x x 1-33%
60-10

= 1-2% x 100% =9.84%
2
x 1-

= x 100%

5-5 50 5
3.4 8000 33%

34000 x 4 x 5 = 680000

680000 ; 500000 _ 36000

500000 - 8000 = 492000
492000
S5x4
492000 + 24600
2
36000x  1-33%
258300

= 24600

= 258300

x 100% =9.34%
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> x
5-6 5-5-1
5-5-1
%o % % % %
14 160 64 8.96 130 52 7.28
7 50 20 1.4 70 28 1.96
10 30 12 1.2 40 16 1.6
11 10 4 0.44 10 4 0.44
250 100 12 250 100 11.28
5-5-1
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x 100%

x 100%
X —_—
X pa— a—
5-17 5-5-2
5-5-2
200 7.5 1500 5.1 1020 480 288 192
240 7.5 1800 5.1 1224 576 288 288
40 — 300 — 204 96 — 96
20% — 20% — 20% 20% — 50%
480 _
192 2.5
50%
T20% 2.5
2.5
1% 2.5 2.5%
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5-8 5-5-3
5-5-3
0.3 220 7.5 1650 5.1 1122 528 288 240
B 0.5 200 7.5 1500 5.1 1020 480 288 192
0.2 170 7.5 1275 5.1 867 408 288 120
0.3 220 7.5 1650 4.5 990 660 408 252
C 0.5 200 7.5 1500 4.5 900 600 408 192
0.2 170 7.5 1275 4.5 765 510 408 102
5-5-3 30%
50% 20% 220 B
240 C 252
5-5-3
B 528 x 0.3 +480x 0.5 + 408 x 0.2 = 480
C 660x 0.3 +600x%0.5+510x0.2 =600
B 240x0.3+192%x0.5+120x 0.2 =192
C 252%x0.3+192%x0.5+102%x0.2=192
430 _
B 193 =25
600 _
C 192_3.125
B
240-192 2x 0.3+ 192-192 2x 0.5+ 120-192 2x0.2=41.57
C
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252-192 2x 0.3+ 192-192 2x0.5+ 102-192 *x0.2=51.96

C B C
C B
C B
= - x 100%
= — x 100%
5-9 5-5-4
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600 600 1200 192 16% 12% 72 120 20%
600 600 1200 220.8 | 18.4% 12% 72 148.8 | 24.8%
28.8 2.4% 28.8 4.8%

15% 15% 24% 249%

192
5-5-4 ‘120—1.6
24 %
=150 = 1.6
1.6 1 1.6
5-10
5-5-5
5-5-5

0.3 800 200 160 8% 16 144 18%

0.5 800 200 138 9% 18 120 15%

0.2 800 200 100 10% 20 80 10%

0.3 600 600 240 10% 60 180 30%

0.5 600 600 192 12% 72 120 20%

0.2 600 600 120 14% 84 36 60%
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0.3 400 800 252 13% 104 148 37%

0.5 400 800 192 16.5% 132 60 15%
0.2 400 800 102 18% 144 -42 -10.5%
5-5-5 1000 800 + 200
160 138
100 200 8%
9% 10%
5-5-5

A 160x 0.3+ 138 x 0.5+ 100x 0.2 = 137
B 240x0.3+192x0.5+120x0.2=192
C 252x0.3+192x0.5+102x0.2=192
A 144%0.3+120x0.5+80x0.2=119.2
B 180%0.3+120x0.5+36x0.2=121.2
C 148x0.3+60x0.5-42x0.2=66
A 137+119.2=1.15
B 192 +121.2=1.58
C 192+ 66=2.91
A 18% x0.3+15% x0.5+10% x0.2=14.9%
B 30% x0.3+20% x0.5+6% x0.2=20.2%
C 37% x0.3+15% x0.5-10.5% x0.2=16.5%
A

18-14.9 °x0.3+ 15-14.9 *x0.5+ 10-14.9 *x0.2=2.773%
B

30-20.2 *x0.3+ 20-20.2 *x0.5+ 6-20.2 >x0.2=8.316%
C

VvV 37-16.52x0.3+ 15-16.5 2x0.5+ —10.5-16.5 >2x0.2=16.523%
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1.6

4%

2.5

2.5x1.6=4
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1%
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5-11

104

600

400
200
R
R - 400 x 8% +200x9% R — 400 x 8%
600 600 + 200
R = 104
104 - 400x8% +200x9% _ gy,
- 600 -7
104
104
y— F—
K_
S1-V —F-1, S1-V —F-1,
K, - K,
56 60%
S1-60% -56=104
S = 400
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8%



5-12 5-5-6
5-5-6
Yo A Ay B, B, C G
16 17 9 10 7 8
0.3 50 60 60 70 55 60
0.5 40 50 50 60 45 50
0.2 20 30 40 50 30 35
39 49 51 61 45 50
6.24 8.33 4.59 6.1 3.15 4
5-5-6 30%
50% 20% 16%
50 17% 60 9%
60 10%
2.

A;=50%x0.3+40%x0.5+20x0.2=39
B;=60%x0.3+50%x0.5+40x0.2=51
5-5-6

A =39%x16% =6.24
B =51x9% =4.59
5-5-6
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A+ B, + (G
A+ B+ (G
A +B,+ G
Ay + By + G
A+B +G
A+ B+ G
Al+B+ G

A+B+ G

A+B+ G

39+51+45=135
49 +51+45=145
39+61 +45=145
49 + 61 +45=155
39 +51+50=140
49 +51 +50=150
39 +61+50=150
49 + 61 + 50 = 160

150

6.24+4.59+5.15=13.98
8.33+4.59+3.15=16.07
6.24+6.1+3.15=15.49
8.33+6.1+3.15=17.58
6.24+4.59+4=14.83
8.33+4.59+4=16.92
6.24+6.1+4=16.34
8.33+6.1+4=18.43

A+ B+ G
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Al+B+ G
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